restart
Ecuacion = y(X) + sgrt(y(x) - -2 — x--2) — x-diff (y(x), x) =0

Ecuacion :=y(x) + v y(x)2—><2 — X (% y(x)) =0 Q)

with(DEtools) :
odeadvisor (Ecuacion)
[ [_homogeneous class A], rational, dAlembert] 2

EcuacionDos := simplify(isolate(eval (subs(y(X) =V(X) -X, Ecuacion) ), diff (v(x), X)))
v(x) = VX (v(x)®—1)

EcuacionDos ;= d

™ ¥ (3)
. . (v(x)°—1)
EcuacionTres := |hs(EcuacionDos) = «
onrese A i = Y VO0Z =1
EcuacionTres:= X V(X) = ™ 4
odeadvisor (EcuacionTres)
[_separable] (5)
: o . 1 _.o (1
Solucionintermedia := |solate(|nt( (V-2 —1) ,v) —|nt( x ,x) +Iog(Cl),x)
Solucionintermedia:= x = \Hcﬁ (6)
1
SolucionFinal := subs(v: % Solucionlntermedia)
Yy, /Y _,
X X
SolucionFinal :=x = )
Cy
Ecuacion
d
00+ y007 ¢ —x gy | =0 €)
FI := intfactor (Ecuacion) : FI;
L ©
v (Y(X) =X) (Y(X) +X) X
Ecuacion

y(x) + y(x)° =X —x(% y(x)):o (10)
EcuacionExacta := |hs(Ecuacion)-Fl, =0

y(x) v y(x)*=x —x (i (X)) i

EcuacionExacta := =0 (1D
v (Y(x) =x) (y(x) +x) X

odeadvisor (EcuacionExacta)
[ [_homogeneous classA], _exact, rational, _dAlembert] (12
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